® Write an inequality to match the graph.
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Solve and graph the inequality.
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Solve and graph the inequality.
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RLL REAL NUMBRERS
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Solve and graph the inequality.
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On a game show you guess the price of items.
In order to win your average guesses must be
no more than $3 away from the actual price.
Your first 3 guesses were over by $5, under by
$10, and over by $2. Write and solve an
inequality to represent how far off your last
guess can be in order to win.
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Solve and graph the inequality.
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Write an inequality to match the graph.
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Write an inequality to represent
the situation.

In order for students to goon a
school trip, at least 50 students
must sign up.
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Solve and graph the inequality.
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Solve and graph the inequality.
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Fite an inequality to match the graph.

Solve and graph the inequality.
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Write an inequality to represent the situation.
The thermostat setting keeps the temperature ‘ZX + 5‘ - 7 = 36
in a building within 2 degrees of the set +17 7]
temperature. If the thermostat is set at 71°, find Il" 'I’S_‘ =43
th f ible temperatures. -
erangeo possnL e tempera ures{: 2% ‘1’5- 45 oy IN +5 - 43
ET< L 2% R
o‘} e §_8 dx = =Yg
2 2 2 2

o)

Write an inequality to match the graph.

~5-4~-3-2~1 0 1 2 3 4 5

X £

X= 1% e X=-24

%)

Write an inequality to represent
the situation.

To win the race, Bobby must run
faster than 7 minutes.

t= time
+ <"




